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PART -1 e
(1) GENERAL ENGLISH / 9= S il

1. Directions : Choose the word most nearly

OPPOSITE in meaning to the given word :
FACT

(1)  Fiction @)
3  Reality . (@)

Imagination
Lie

Directions (2). and (3) : Complete the following
sentences by using the correct form of the verb with
the help of options that follow :

2. The Headmaster to speak to you.
(1) 1s wanting
2 was wanting

()  were wanting

» (4) wants
8. He for five hours.
(1)  hasbeensleeping

()] must had been sleeping
(3  wassleeping
4  hadslept

Directions (4) and (5) : In each of the following
sentences improve the underlined part with the help
of given options :

4, Ishall have much pleasure in accepting your

kind invitation to dinner.

(1) Can’t have much pleasure
@ Iam having much pleasure
(3) . Imayhave much pleasure

+(4) Ihave much pleasure

5. No sooner did the police arrived than

robbers made good their escape.

(1)  No sooner when the police arrived
)] No sooner did the police arrive

(3) 'No sooner the police arrived

(4) - No sooner had the police arrived

’
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the .

6 Directions : The idiom given below is followed
i by four possible meanings. Choose the correct

option :

By fits and starts

)

successfully
suddenly

(1) irregularly @

(3)  incompletely «(4)

7. Directions : In the following sentencg, out of
the given alternatives choose the one which best
expresses the meaning of the underlined word :

His performance in the office is quite superficial.

(1)  excellent «(2) shallow
(8)  excessive (4)  unnatural
8.  Directions : In the following sentence, one

part may have an error. Choose the one which
has the error, if any :

It is high time/that we send /
-(1) @
the answer/to this query.
@

Direc.tions (9) and (10) : In the following items a
word is followed by four explanatory expressions.:

Cho(c;se the expression which best describes the
word :

9.  ORTHODOX

(1)  onewhoflonts established opinions
(2  onewhohasno opinions of one’s own
+@)  one who holds established opinions

4  onewhoisself opinionated

10. EXPLICIT
(1) . drawing oﬁt asecret from somebody
(@ comparison that is out of place
+(3)  statementthatis absolutely clear
@) -trade prohibited by law
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. PART -IT / 9T - 11
(1) GEN. KNOWLEDGE AND CURRENT AFFAIRS | [T [ o GUETHSS g2

21.  When was Goods and Services Tax (GST)
introduced in India ?
(1)  February, 2017
«(  April, 2017
3  July, 2017
*(4)  January, 2017
22.  Which of the following gates in the defence wall
of Delhi was identified by Ibn-Battuta as the
greatest ?
1) Guldarwaza
(2 Budaundarwaza
. #(3) . Delhidarwaza
(4 Mandwidarwaza
23. Which of the following is the first Statein India

that has made roof top rainwater harvesting
structure compulsory to all the/hoiiges across
the State ?

(1) Punjab
+(2) Tamil Nadu
(3. Kerala
-+(4)  Maharashtra
24. The Chipko movementis associated with which
of the following states ?
«(1) Uttarakhand
() Chhattisgarh
3 Madhya Pradesh
(Y] Jharkhand
25. Who is the founder of Grameen Bank of
Bangladesh?
(4))] Mohammed Yunus
«(2) Mohammed Talib
‘@3 S.R. Hashim
“@ Mahabub-ul-Haq
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26.

26, Who was awarded with Jnanpith award,

20177
() ShivMehta
.(@  Krishna Sobti

3) Ramesh Kuntal Megh
(4) Jayantha Mahatab Bora

27.  Which one of the following rivers flows across
China, India and Bangladesh ?

(1) Indus

(2) Ganga

(3) Changdiang
* (4  Brahmaputra

28. Which one of the followmg is not the form of

precipitation ?
(1) Sleet
(@) . Hail
<@  Absolute humidity
(4) Rainfall

29. Dipa Karmakar won a gold medal in
Gymnastics World Challenge Cup at, Mersiw,
Turkey on July 8, 2018. In which event, did
she win ?

(I) Dbarevent
-(2)

(8) parallelbar exercise

vault event

(4  floor exercise

30. Which of the following Country hosted the

Asian Games in 2018 ?
@ China

’ (2) Indonesia
@ Japan

4  SouthKorea
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PART -II / w1 - 11
(2) REASONING ABILITY / wfdrer @aer

8L. A solid brick of Gold measuring 31. foet 18 cm x48 cm X 16 cm 'énﬁ.':lll P T &I
.18tgm X 11)8 c¢m X 16 cm is melted and converted FE =1 frsrersT T Fl 3:[‘@?&{ | gfafda fehan
Into a cubical shape. An edge of thi hape ) feraen
isequal to: = SRewshap TR Wqﬁ%ﬁ[ﬁ@ﬁm(m)
‘ ?
«(1) 24cm 2 12cm TR .
cm
| O e @ 18dM. (4 489
32. A man is standing near a clock‘ tower. He 32'_ FE = el R F fepe @ 21 =g <faror =t
moves southwards to reach a point ‘P’, 8 km R S & < foF S R A
from the clock tower. From ‘P’ he turns right, R @ feg P 1:r( il .
then moves 6 km to reach a point ‘Q’. From ‘Q’ g fait B =% fag P’ 4 Td gea 6 el
he moves to right again and reaches a point T ‘Q ST © i3 Q¥
o ¥ ok fig ‘@ Wogaa €1 fog ‘Q 9%
‘R’, 10 km from ‘Q". From ‘R’ he turns right a T W" 0
and reaches a spot ‘S’, 6 km from ‘R’. How far fert e e fé@ s %Gh ﬁﬁﬁ‘Q, d
and in which direction, he is from the clock 10 frfi R &1 foig ‘R’ § =1 <19 TEh T S W
tower ? - o
: TN E MR A6l R WE i a7
(1)  2km South v©2  2km North a1 R e g qen frm feen H %2
(3 18km South @  4kmSouth @) 2T g @ 2fEis®
@ 18 Tt oo @ 4 Tt <Ry
83. Out the following given four words, one is .
different from the other three. Select the odd | 33. " *T¥ f@ T4 ¥R v=3i & v vt o 19 4 Ry gl
one: S oy wisg =0 gi .
«(1) White @ Red @ v @ o
@  Yellow 4 Blue @ e @ e
34. Inder is avn;an and Sahej is a woman. Sahej’s B4, TUTH R T WS 0 R HeS i /e
mother is daughter of Inder’s mother’s sister. T ﬁ Tl S8 F S Tl WS = T
How is Sahej related to Inder ? F Hay ¥ ? e
M Sister S es M 7 @ et
3) Grand-daughter . (4)  Daughter @) ‘ﬁ?ﬁﬁfﬁFﬁ @ ¥
A-6 SPACE FOR ROUGH WORK / T e & ot srrg
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35. _ Pa

I II

- There is some relationship among the above
two figures. Out of the following figures select
the set of figures that have a relationship similar
to that in the above figures :

®
O L
®
I k 1I -
[ ]
@) °
T 11
{ ]
@ - .
I i IT
®
.@)
[ ]
I II

36. Observe the following words carefully :
hopeful, helpful, healthy, healing, heating. - "

If we arrange these words in dictidnai‘y order,

36,

I II
IH q AT § F9 dey ¥ Frafataa
stpfeal F | 39 sepla wg=a 1 Gf fow
T Gy ¥ S S ST o
o | U .
I, REREI i {
@ °
I II
® 2
I 11
4 .
I I
fraferfia wdi e & S -

hopeful, helpful, healthy, healing, heating.
I T Wl I I & A W Hafeea faa

S, 7 frefetd ¥ ¥ HE-T I T wE W

which one of these will be at the third place ? B0 ? ;
+() heating (@  helpful- (1)  Theating @ | helpful
@) healthy @ . healing @  healthy @  healing
18A7
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37.

« (D

38.

~(3) 56

39.

- 40.

Page 7
37.

Which one of the following is mirror image of

the gbove figure when mirror is placed along
the line AB ?

@ @ )F

®) @ |p )

A cube of side 8 cm is painted red om'all the
sides. lIt is then cut into smaller culies, esch of
side 2 cm. How many of these smallér cubes
have one or more sides painted red ?

@ 32 _ @ . 48

@ 24

In a certain code language ‘PRINCESS’ is
written as ‘ECINRPTU’. How will you write
‘QPICEJET in the same code language ?

@ EJICSPFV @  JECIPSGU
€)] JEICPSGV _¢(4) JEICPSFV

What is rélated to the numbers ‘3, 4, 5 in the
same way as numbers ‘L, 2, 3’ are related to

38.

39

40.

@ . JEICPSGV @)

frefirfiaq & @ A ST St ol AT &
e <o % a1 AB T @ T ¥ ?
5 D
@ - |d @ [@ )P
A
O : s
® |p )g @ [P D
A

8 Q.. oo A Rt v @l el WA
A e | o 38 W 2 AHL I e
et BB ¥ W wrr TR 7 A J R
DLV T h Teh A1 SAfeH Yoati =l o T H
MR 82 '

g @ 48

@ 56 @ 24

ferdt g2 I § ‘PRINCESS’ #! ‘ECINRPTU’
foran S €1 3% He o ‘SPICEJET #i
fraveR e smom?
() EJICSPFV @  JECIPSGU
JEICPSFV
TR ‘3, 4, 5 1 T FeY TR <) Gy G
‘L2, 3HMERAN Y, 4, 9T
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PART -11 / Ymr- 11
(3) COMPUTER LITERACY / hv2T |Igar

41. Thesaurus tool in MS-Word is used for :
(1)  Spelling suggestions
+(2)

(3)  Correcting sentences

Synonyms and Antonyms words
(4  Grammar options

42. What is common between the following ?
Facebook, Twitter, Instagram, Pintrest

(1)  All are accessible from dark web.
- (2)

(3)  Allare news websites.

All are social networking sites.
(4)  Allare banned websites.

43. Artificial intelligence is the science and
engineering for :

@ _ making intelligent machines:
() - making computers think like humans.
Which of the following is the correet optlon ?

(1 Only(b)

+(2) Both(a)and (b)
(3  Neither (a) nor (b)
@)  Only(a)

44. Which of the following font Leffec't; is not
available in MS-PowerPoint Font dxalog box ?:

< (1) Shadow

(2)  Strike Through
(3 Underline

@4  Emboss

45, and are the smallest and
largest font size available in Font Size tool on
formatting toolbar in MS-Office.

(1) 8and72 (2) 12and64
3 12and72 (4) 8andé64
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46.  Inputdevices most commonly used on laptops
for routine operations are
« (1)  Keyboard and Mouse
(2) Keyboard and CD-ROM
(3) © Mouse and Pendrive
4  Keyboard and Screen
47.  Which of the following features is used to apply
motion effects in between a slide exits and
anotherenters?
(1)  Animation Scheme
(2)  Slide Design
*(3  Slide Transition
(4 Animation Objects
48. Which of the following are Indian IT
companies ? . :
(1) Inteland HCL
*«(2 HCLandTCS
(3 DELLandTCS
(C)) Intel and Wipro
49. ' Given the following pairs:
(@ WiFi Modem
(®)  Chrome Cable
© File Hard drive
@  Charging Cable
" '© Which of the above is an odd pair ? |
«@ () only @  (@only
® ©and@ smi@)ely
50. Which of the following option is used to move
data from one place to anot_her in a document
(MS-Office) ?
(1) Paste (@ Cutand Paste
@ Cut @ Copy"
A-10

46.

47.

48.

49.

50. -

i e e el R AT TG T
aﬁwmﬁ?@%?

(1) e 991 HIsd

@ FEE T WA

(3) WHWW

) Frars aU1 Bhid

@W%ﬁaﬁ@?@ﬁﬁ”sg%@#qw
v 3 Sen & fau Frefafad § 4 ey

ferdrean 1 9 foha < § 2
1)  THRE

@ RS feste

@) ES S

@) TAHYA AT

Frfafed 3 @ = o IReda ot shufai &2

goN 3T AT TELH1L. T
@ T T,

® =& 9 A,

@  gea aun fam
Ffefea g fau o ¢

(@) AE-wE Hieq

b W TR

@ wE" TS 3T

@ =fsn - FaEw
ﬁ?fﬁafaaﬁﬂﬁqmgrqu@{fw%?

O = ) @ FE ()

®  ©@aum@) @ =9 ()
wsmﬁfz(mmaqm)ﬁaaﬁ@w
: ﬁmwwéﬁﬁ%ﬁqﬁmﬁﬁm
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PART -II / 9mT-11
(4) PEDAGOGY / forarmemes

51. Which of the following are important barriers

in the equalisation of educational
opportunities ?

(@) Differences in economic states of learner
()  Gender disparities

(9  Common school system

(d Differences in the standards of

educational institutions
Code:
(1)  (a)and (@)
@  (a), (b)and (c)-
«@ (), ()and @)
@ (@), (), (c)and (d)

52, Which of the following is not charactézistic of
the socially and emotionally mature person ?

.(1) He makes conformity to ssoecial
expectations his primary goal.

(2) He is relatively free from anxiety and’

conflict.

(3 He is capable of exercising control in the ;

face of emotional stress.

(4 He has a sense of humour and positive

outlook on life.

53. What can not be visualized as a role of the'

teacher in teaching through problem solving ?
*(1) Creating the problem situation.

(2) Assist students in perceiving, deﬁmng
) and stating the problem.

(3  Assist students in finding appropriate
solution to the problems.

(4) Create fear free atmosphere in the class.i

18A7
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54. The concept of IEP (Individualized Education
Plan) is not based on the idea of :
(1) current strengths of the learner
(2 ' individual goals to be achieved
@)  use of cooperative learning strategy
' (4) Separgting children on the basis of ability
grouping
55. Whatis not a major concern of the school on
the development of child’s language
competence ?
D - Issues related to articulation and literacy
(2  Enhancing vocabulary quantum
(@) Ability to use language and create
« (4  Tothinkand communicate with others
56. What type of efforts are needed to be made in
learning of Mathematics in early primary years
l.e., upto class IV ?
(1) Diagnosing learning difficuliies
«(2) Providing enrichment prograrimes
(@)  Completing the course/competencies
(4)  Ensuring regularity in atténding the
class/school
67. < Which of the following is not a mode of
Computer Assisted Learning ?
«(1) = Tutorial
(@) - Drill and Practice Session
(3  Modelling
(49 Data Interpretation and Drawing_
7. £ -3 Conclusions
58. A school curriculum can be best defined as:
(1)  The complete array of the courses of study
(@  Allthe materials used to further pupils’
‘ activities
«(3) Acomplete set of organised experiences
in the school
'(4)  Sum total of knowledge tobe provided to
*F learners ' :
A-1Z
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59. The most important issue of a multi-levﬁ 3

situationis:
(1)  seeking cooperation amongst students
2  Class size exceeding 30
¢ 3)  Addressing the learning needs of different
level students of different grades
simultaneously
(4  Arranging appropriate TLM

60. A child takes a favourite book and retells the
‘story’ often by using pictures as cues. At what
process/stage/component does she/he

demonstrates ?
+(1) Narrative
(@) Syntactic awareness
3) Emergentreading
Phonological awareness

@

61. A teacher would become more effective if:

@)
@
46

@

he/she uses good instructional aids.
he/she helps students to ask question.-

he/she helps students to achieve mastery
learning.

students score high marks.

62,  Social maturity is best characterized by :

0

®
@
v(4)

18A7

ability to win friends and influence people
a high level of personal adjustment

a high degree of social céampetence
ahigh degree of integration of one’s needs

and purposes with those of the social
order
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63.

Page 13

.. Match the two sets. Set-1 indicates stages of

gogr}itive. development in Piaget’s model and
et - IT indicates associated characteristics.

. Select the correct code to represent your

answer.
Set -1 Set - II
@  Sensori-motor @  Reversible
fénling
(®)  Pre-Operational (i)  Object
permanence
© . Con(‘._lffate Operational (i) Egocentrism
(d  Formal Operational (iv) Deductive
thinking
()  Repetitive
tasks
(vi) Intense self
awareness .
Code :
ST @ B @
D @ G @ (iv)
@ ™ &) @ a6
@ @ G @ W
@ @ @ G 6
:64. .. Which of the following best describes theeffect
' of heredity upon development ?
......(1)  Heredity determines how far we will go
s (2) = It determines how far we can go
_++(8) - .. It is the prime determinant of how far
S We will go
_ (4) ‘:I‘_t,'!is_fche prime determinant of how far
7 wecango
65. Identification of learning gaps of children and
* ' plugging them is done through:
(1) Team teaching
@ Reflective teaching
e (@), ‘R.emedial teaching
| 4)  Re-teaching

A-14
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67.

-

68,

L 4

69.
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66.

You have administered a test on Mathematics
to class V, most of the students failed in it. You
have to construct and administer another test.
Which test would you prefer ?

(1) Summative test
(@) Mastery test

(3  Diagnostictest
@

Formative test

Emotional response to symbolic stimuli is
primarily the result of :

(1) maturation

(2) learning

@) adjustment

(49)  increased sensory perception

A generalised view or characteristics that ought

to be possessed by women and men
constitutes :

(1) genderroles

(@  genderidentity

(3) gender disparity
(4  gender stereotypes

The best way to handle a wrong response of a
student would be :

(1) to explain the subject matter in detail
again. )

(2) to tell the student that your answer is
wrong.

(3) toaskanother student to give the correct
answer. ,

(4)  to explain and give another chance to

give answer.

Micro teaching is a technique used for :

)

teaching small sized class

(2) teachingin a simulated condition

(3)  preparation of teacher in specific teachmg
skill

(4)  teaching difficult concepts

67.

| 68,

69.

70.

19 T V o 7ifor o farenfeial ot wden smafa
1 | 3o At fondt sl S a1 s
T wte < ford Jeast TR R qon e o
T 3T FHE-T e o TE w4 2

() HFhorcas gier
©@  etomar gde
@) =T TiE

@) TS e

YeATohTcH SGaIq o Hid Farml aﬁm a9
frgem afomm 8 2

1)  aRgeed

@ erfum

(@) HHRNH

@ afYa fea-aig

HHATighd forem qur fadoamd < us 7oy qen e
B ey, FTa A a = e?

W S oftrn

@)\ S e

(3 | S STEEE
(1)  SiEUEg uron

Fﬁ@ﬁmﬁﬁﬁa@ﬁaaﬂmaﬁﬁwﬁmw
TR

() Fereneft Y : foro og F R farR R
HHSAMT

@  fornefl # 7% s o ST R T 1

@) g forenefl ¥ W& S oA F 7R wE

(4) T A IR 2 F o T o
WEH &

& 319 (Micro teaching) Eﬂ?ﬂﬁﬁ%ﬁmﬂ
3941 fopan S @

() W A 9Tl SHETel & ST B

@  orgefd feofd d spammeg

@ faRme st Stve § T 9 398 '
@) an'ﬁnaamtunaﬁ'emaqwm%g
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PART -II / ¥t -11
(5) SUBJECT CONCERNED | eatud faud

k=
71. W%Wﬂﬁﬁ%@awmﬁamﬁm 76. H@ﬁi{a*ﬁmﬁmﬁﬁ ST,
T e mar €2 ﬁmﬁrm%7
SR Aol Frrd ¥ et srmEyE R §) ) T 2
O = ‘@ HgW
@ fag @ R @ o @ , T
72.  9RA H Sl 9 et Waﬁﬁ;qﬁaﬁﬁm ,
5 Trq%;rﬂ-@ 77 ;thﬂmmﬁmmﬁm
(1) o, 2, i, s AR
@ I, afve, S, = @ 9 @@ @ . @
@  HE, 3w, 3w, T W@ Wi, e @ 9@
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81. Choose the option which best describes the
meaning of the underlined idiom.

She crawled forward inch by inch.

(1)  slowly and carelessly

@ lazily but carefully

(3)  quickly but carefully
+(4)  slowly and carefully

.+ 82, =~ Choose the option which best describes: the
meaning of the underlined phrase in the given
sentence.

Who can say who will turn up next ?

1)
« (3

withdraw win

@
@

arrive depart

83. Choose from the given options the word ‘similar
in meaning to the one given below/:-

Froth
+ (1) foam 2 wavé
8  fruitful (4) gross
84. Choose the option to fill in the blanL with the
correct form of the verb.
‘Where’s my pen 7’
‘Ram _ ‘ it yesterday.’ |
-(1)  hadlost @  lost -’
(3 haslost (CY) would lose
85. Choose the correct option tc; fill in the blarik
in the following sentence.
He rules a vast erﬁpire.
() in @ into
v(3) over 4 at

o4 18A7

86.

87.

M
«(2
)]
&)

88.

89.

90.

Choose the option to fill in the blank in the
following sentence with correct form of the
- verb.
We Ram and Shyam for many
years. vormn oy id
(1) knows
(20 haveknown
(8  know
.(4)  have been knowing
Choose the option in which each word in the
following table has been correctly matched with
its respectwe part of speech
foamy ﬂux but N can
Conjunction Verb Adjective - Noun
Adjective Noun Conjunction Verb
Verb . Adjective ©~ Noun + Conjunction
Noun Conjunction Verb Adjective
YWhich form of sentence is the following ?
I was offered a chair.
(1) . Active
- (@)  Passive
(8) = Interrogative - -*'.
(4 Imperative
Choose the correct option to fill in the blank
in the following sentence.. -, ¥
Sita has got nice smile.
¢ (].) a (2) an
3)  the .(4) 7 ~some
Choose from the given options the word nearly

opposite in meaning to the one given below :

Popular

(1) raw *(2) .. notorious

(8 relevant - (4) - - promoted
oA -17
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L ‘é‘lt tiniei t=0, a scooter has a velocity of
: 5‘33 g -Izt slows down with an acceleration
:raveﬁ?ds- - At the end of 4 s, the scooter has
(1) 80m @ 84m
3  100m @ 104m
92. c e .
2 i'I;h'e correct distribution of electrons in sodium
‘D 2,81 @ 2,63
*® 5,51 @ 254
93. i .
hwyg;‘(;}:a:l;);llgound 1s a saturated acyclic
*(1) Butane
(2)  Benzene
(3)  Cyclohexane
(4  Ethene
94.  Anobject covers two consecutive equal distances
with speeds v; and v,. The averdge specd of
the object is :
v1+vg V'
1 —
@ 2 @ 2@ptvy)
VviVg 2 vive
@ vitve A +tve
95. Anopenjeep is moving on a straight path with
a uniform velocity. A person sitting on the front
seat projects a ball vertically upwards. After
some time the ball :
+ (1) fallsback in his hand.
(2) fallsinfront of the jeep.
(3 falls on the back seat of the jeep.
(4) fallsoutside the jeep.
A-18

91.

92.

93.

94.

95.

ey

a0 T FFe T F AT 21 ms 1 ¥ 1 TR
M50 cms-2H RAFAA R TN 45 374

3 7 Tepex Pl 0 09 R A2
(1) 80m @ 84im
@3 100m @ 104m
mﬁﬂﬁmﬁmm%
O 281 @ 2,63
® 551 @ 25,4
i e argEe A §
O =g

@ =

@ WA

@

ﬁémammqmmvlm%ﬁ
B T € | 59 fave Y sivem ame ey 3

m V1V2

2 ) m

Vivg 2 viv
® vitva @) V1v-l}v§
aﬂé’gﬁﬁﬁvﬁmﬁwi@}qu@waﬂ
5T &1 ST 3 e 1 e e
T 1 3 e e g
) Mqu-{ﬁmﬁgl
@ S F Ty it g

1 7 foeh e w freh 2,
@ Tfﬁqﬁ»‘argtﬁpﬁ%l
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96. Anobject of mass 40 kg moving along a straight
line with a horizontal velocity of 15 ms—!
collides and sticks to a stationary wooden block
of mass 10 kg. If the surface is smooth, the
combined object (object and the wooden block)
after collision moves along the same straight

. line with a velocity of :

1 9ms-!?
« (3 12ms—!

10 ms—1

12.5 ms™1

@
@

97. An object is covering distance in direct
proportion to the square of time elapsed. What
conclusion can be drawn about the motion of

the object ?
@ The object is moving with zero
acceleration.
«(@  The acceleration of the object is constant.
(@  The object is moving with increasing
acceleration.
(@)  The object is moving with decre4sing

acceleration.

98.  The resources of water on the earth are:
(1) Sea/Ocean
(2  Snow on mountain and near poles
3 Monsoonrain
7 (4) Ocean, snow and rain, underground.
water

99.  Which one is not a rabi crop ?
; (1) Mustard @
@ v(4)

. Peas

Black gram Wheét

100. Which food gives energy instantly ?

*(1) Foodrichin carbohydrates
@ Foodrichin fats
(3  Food richin vitaming
(4  Food rich in proteing
18A7

96.

97.

985

99,

100.

15 ms“lﬁaﬁﬁﬁ@WWW?m
T %iE 40 ke FWH 1 U8 10 kg S599H 5
ferelt fer Thdt & e & e formes st 14
7 5 fawn R @ Weg % vvEw wgw fvs
(mwmww)mm%@%aﬁﬁm
forg 9 @ nifa sam? o

@
@

9ms—1!
12ms~—1

10 ms—1

.12.5ms™1

@
@.

+1E fyve 39 YR i % ® o 5% g =et

Tt g{ fo T HHE % v & STTREHE €1 39
fug =} nifaq o foog o =41 e Frenrern s gwan
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@ fTrsw oot

@ frEcagEmIMITRTRI
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) waEywhE

@) At _

@ Ve, e, w9 @ g e
O T A(2)» T
D i, T i e
mwmwm%v

1 Wﬁaﬁwﬁﬁm@zaﬁwﬁl,
@ v foed am afuw |

@ e foe faert st @
@ A foad N st @
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101. Watt second is the unit of :

*(1)  energy @  force

B) momentum (4)  power

102. Organ that transports blood to various parts of
human body is :

~+(l) Heart (2  Kidney

(3) I.;lVEl' 4 Lungs

103. Anobjectof mass10 kgis moving with a velocity

of5ms~1, Ifthe velocity of the object is tripled,
the change in kinetic energy of the object is :

1 90% @  300%

(3  800% @  900%

104. The length of the small intestines in thea human

body is :
1) 10m @ 2m
v@ 75m @ 1m

105. Pick out the correct statement.
(1) Burning of fuel is a physical change.

(2 CHy, Hy0(g), CFC etc. are not green
house gases.

Chlorophyll, a green coloured pigment,
acts as a catalyst during photosynthesis.

)

(4)  Uranium - 235 is non-radioactive.

101.

102.

103.

104.

105.

) T @)

a1 TS R A & 7
® I @, =
@ wm @ i

P & 377 % g TR ) AR I H ST TR
ST ?

EESD

® = @ e

10 ke §AM FT H1E 498 5 ms—1 & T 9
i €1 A 59 favs @ a A T R e
MY, 1 fyue 1 fas et d B a1 uiEdd © ¢

1)  90% @  300%

@) . 800% @  900%
I &% TR H DI 37 ) A g
() 107 @ 2.

@ 7.5 @ 17T
WE o A gy

1) 3 H ST e e &

@ A, s@(Y) How, smramq -
e s

@) T S T TR =i 3§ e sy
ﬁmaﬁmmﬁm%l

@ e - 235 froiar T 8
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106. Consider the following statements in the context

~oflevers of third order :
(@  Inthese levers the effort is in between
the fulcrum and load (weight).
(®  The mechanical advantage of this kind
oflevers is more than one.
(©  Tweezer and human arm holding weight

on the palm are examples of levers of
third order.

The correct statement(s) is/are :

Y

@

Only (a)

e ©@ (2and()

(b) and (© 4 (a)and ()

107. Which one is wrongly matched ?

@

@

e

@

A B
Mercury - Nearest to the st
Venus - Hottest planet -
Saturn - Planet without rings
Mars - Called red planet

108. An 8 metric tonne engine pulls a train of
5 wagons each of 2 metric tonnes along a
horizontal track. If the engine exerts a force of
3.5x 104N and the track is smooth, then the
force exerted by wagon 1 on wagon 2is:

@

@

18A7

3.5x 101N 2.8x 104N

" @

1.4x 104N 4 7.0x103N

106. e A0ft % SR % et F 99 fow o e

107.

108.

@

R fo=R vy '

T Il H a3 ot aR 3 mer
T e g

G IO F IRl At @
aferer BT B

©  EHE 1 AFE- o % 29l | YR am
T Gl Aot o SelieTeh & 3eTe ¥ |

R T

) e (a) @ (3RO

@ b 2AR(c) @ (23 ()

BT gafaa §?
A B

@ 9y - T % Tl 9w

@ T - R TWETR

@ @ - aRfowue

@ W .. o U Fean el

8 Hifgeh <7 SeqHH o1 F1E $91 5 o= arent fncdt
o, o Wl feedt 1 g 2 Ffer 1 8, =)
A vl W et weR T @ R A e
8.5x10* N oe1 &al & a1 9t foaett & o
o= 7.1 fesdt 7.2 W fohe T s/ TR Tar 22

@
)

3.5x 104N @ 2.8x104N

1.4x 104N 4 7.0x103N
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109. If the distance time graph of the motion of an

110. Which one is a wrong statemént'?

111.

112.

ojbject is a straight line but not parallel to the -
time axis, then it may be concluded that the

object is moving with a :
(1)  non-zero acceleration

(2)  constant acceleration

(3)  increasing acceleration

-~ @)

constant velocity

(1) Solids and liquids can not be compressed
- while gases can be compressed. t

(2)  Gases spread to occupy space available
to them. !

cooling effect.

*(4) The mass of 0.5 mole' of N, gas and
0.5 mole of nitrogen atoms are 28 g and |
14 g respectively.

If 20% of 50% of x is twice the value«of 50% of,
25% of y, then x is what percent more or less.:
thany?

v(2  150% more

3  125%less @

@ 100% more

250% less

In a circle with centre O, chords AB and CD:
are parallel chords on opposite side of O. If
AB=20 cm, CD=48 cm and the distance*
between the chordsis 34 cm, then the diameter
(in cm) of the circle is :

L 26 @ 39

(3 42 +(4) 52

A -22

109, ifs Farel froe = Tifr Y h-TE R T

3 g T T~ o1 3 TR T €, o 7 e

- Forenren S Tl € R SE
W
@ wofEaR

®) Wqﬁm%

o (4) 3 faa ®

110. AT FITTAAE?

1) 39 afk za 71 giifea a1 foman < wehe ®
St | 1 gftfed frar s v B

C (@ i g SYes M R A §

(8)  Liquids evaporate silently pfoducing; |

(@ R W Ao % el e H
®

@ 05 N, N9 5 0.5 Hied N WA &
A AN 28 W F14 7 ¥

111, 3 x % 50% 51 20%, y ¥ 25% 50% T AT

%,ﬁlx,yﬁﬁﬂ%mﬂf%mm%?

@) 100% 3y @ - 150% Ay

@ 125% N @  250% %9

112. éﬁoaﬁ@%ﬁﬁaﬁwwcnm%

S % famda ein fem ¥ ofe AB=209,
CD=48 §.4. SR et 3 e =1 <t 34 370,
R AW (A, H) ¥

H 26 @ 39

@, 42 @) 52'
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113. InAABC, ZC=60°, ZA="75° AD L BC, where
Disapointon BC,BE LAC atE, where Eisa
point on AC. AD and BE intersect each other
at H. What is the measure of ZCHD ?

1) 60 @
@ 50 @

55°

45°

114. InAABC, the sides AB and AC are produced to
P and Q, respectively. The bisectors of ZPBC
and ZQCB intersect at a point O. If ZA = 56°,

then ZBOC equals :
. 28 @ 42
(3 56 o4 62

115. A solid cube of volume 46656 cm3 is cut into
8 cubes of equal volumes. What is the ratio of
surface area of the original cube and the tafal
surface areas of the smaller 8 cubes ?

e 1:2 @ 1:3
® 2:3 4 3:4
] -3 —3
116. [ﬂ) 4% (2—5) 2 —(EJ | is simplified to:
16 9 2
1
- ' 1
@ 3 @)
1
(6)) 1 @ 4

117. In a quadrilateral ABCD, ZC=102° and
Z£D =58°. The bisectors of ZA and ZB meet at-
P. What is the measure of ZAPB ?

1 e ©)
(3

78°

80° @ 100°

18A7

118. AABCT, £C=60°, ZA="75°, AD | BC & wal
D, BCTR T fig T BE L AC, EW S, 5 E,
ACTRTH g ¥1 AD 91 BE 7 HW whirede
FAEI LCHD AW E;
1 60 @
@ 5 @

55°
45°

114. AABCH 3[<¢ AB iR AC I wH1: P 2ik Q 7
QA T ¥ /PBC 3R £ZQCB ¥ wofgvris

TR O W 9fa=sg +td €1 9 ZA = 56° %, @Y

ZBOC U §
o 28 @ 42
@) 56° @) 62

115. 3T 46656 V.13 9 T 319 U9 F! 8 ST
ST a1t S H el S &1 g 59 T g8
HAB,F1 B2 8 Tl & Pt THere gt S

T AT € ? ‘

d W | @
@ 2:3 @ 3:4
2 —3 ) -3 _3
1)4 52 (5
116. (ﬁ) x(?) (2) WA FA W
T B e
w3 @ 1
® 3 @ 4

117. Sg4YSABCD#, £ZC=102°3R/D=58%| £A

3R £B % THfEISS WeER P W e §1 ~APB
o T W ?

»n e @
@ 8 _ @

78°
100°
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118. Raman sold an article at 8% gain. Haditbeen | 118, w3 Tsh 95 8% T W st A T® %

sold for ¥ 150 more, the gain would have been X =i S, @ AH 14%
- 14%. If he had sold it for 2 2,650, then gain X 150 AT e

percent would have been : B afg 9’ 9 &l T 2,650 T o, @ Y
D) et @ 55 e
: @O .4 @ 5.5
? i @3 6 4 65

119. If the roots of the equation N 3
(q—r)x2+(r—p)x+(p—q)=0 are equal, then | 119 g (q_r)x2+(r—p)x+(p—q)=0%’{ﬂ

‘which of the following is true ? - L AR A fE iAo . :
 (1)   Ptg=2r @ p+r=2q @ . p+q=2r . (2 - p+r=2q
U@ ptatr=0" (@) p—q-r=o ' ® ptqtr=0 @ p-q-r=0

120. The length, breadth and height of a cuboid are | 120. T SFI¥ @i SiellE, SR aM STR H1:2: 3
in the ratio 1:2: 3. Ifits total surfate areafis SHT:IH%'I ﬂﬁ{%ﬂﬂo‘l'gﬁ‘{@'q &% 1100 |2

1100 cm?, then its volume (in cm®) 5"

| ©, T TE ST (@) € '
(D 7502 - @ [0 4 @ 750V @ o
@ 1500 «@ ' 15002 (3 1500 @ 150042

121. LCM of two numbers is 340 times their HCF. | 121. Q Heed HAA(LC

_ ‘ M) ST H.9.(HCF) % 340
If HCF is 26 and one of the numbers is 442, - | ’ﬁa’?W%l Ife

_ | STHH.A. 26 T IRt g
theg the. other numberis: | | 428 T <o ek Th o
M 260, @ 3% U m 5 -

‘® 520 (@ 560 «‘ @), 52

= b s : @ 560

122. A sum amounts to ¥ 37,632 at the end of two | 122. Terelt Uf¥t =1 fryspery o ¢ Tvar 129

% mpound interest, |° . F.gn 632 ¥ wefir ot X
years at 12% per annum co iterest, 37, ) g X i
! interest compounded annually. What willbe |, . . e EC qg;li:ﬂ; Hafsa Qa2
- the simple interest on the same sum at the same {ossiuie T g ¥ fo
rate for double the earlier period ? . . YR &t R g 2 =1
L) Z7,200 @ 8,000 ‘ W X7,200 @ %8000
(3 T14,400 (@ 16,000 | ®) 14,400 @ 16,000
| ol
A-24 $\»$“ . % 18A7
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‘A’ alone completes 3

123. part of a work in

20 days. The remaining work then completed

by ‘A’ and ‘B’ working together in 3 days. How
long would ‘B’ alone take to do two times the
original work ?

1
1) '375 days (2) 40days

+(@B) T7bdays

(4) 80days

124. Two years ago, Ritu was three times as old as
her daughter and two years hence, twice her
age will be equal to five times that of her
daughter. What is the sum of the pre qent ages

+ - of Ritu and her daughter ?

(1) 50years (2) b54years

*(3) bH2years (4) 55years

125. The diameter of the base of a right circular 8l
cylinder is 14 ¢cm and its volume is 2002 2.
The total surface area of the cylinder (in cm?)
(Take T = —ZJ
7

1) 440 @ 660

(3 880

4 1320

126. A certain sum is distributed among A, B, C
and D in the ratio 3 : 4 : 8 : 6 respectively. If
the share of C is ¥ 2,820, more than that of B,
then what is the sum of shares of Aand D ?

@ 5,460 @ 75,640

'3 3,564 4 6,345
127..
" . thetotal surface area of a right circular cylinder
~* i8 2:3. What is the ratio of radlus and helght

of the cyhnder ?
e (1) 1:2 @ 2:1
@ 2:3 @ 3:2

18A7 3-%
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The ratio between the curved surface area and
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123.

124.

125.

@)

1 126.

A’mﬁmﬁm%% w20 fe7 # qu

A1 I B A A G0 B e 3 R
TATE X ‘B’ 3Thal YRIE T @
fepan T & qu am 2

0 dofm

37%1%? @

@ 75fE @ sofs

3 o e, g F S S T o A
T % S <t $fR o1 R 2 o e, SwR oy
1 QU IR T F 3G F U [ F w0
e R iR swt T 1 adEn o & Am
g

50 a4
52 a4

54 9Y
55

)
)

@
@

T TS TN 319 9@ o AR 1 A 14 9.,
€T SHEHI ST 2002 A3 Y| A w1 e

Wﬂm(@m‘ﬂﬁ)%(n—»—,i—rrﬁﬁrq)

@ 440

880

660
1320

@
- @

HEAMA, B, CRDH3.4:8- e&:aﬁmaﬁ
IS GiRd A C 1 9W B & 9 FT 2,820,
afieh 3, 'cﬁAai’RD%mvﬁmthnw@m?

1) 5460 @ 5,640

@ 3,564 @ 6,345
"mﬁaqﬁuéﬂa%wmmwgﬁ

I &%l & 2 : 3 1 39 §1 ﬁmﬁﬁtm

ammﬁwaama%‘r‘

@ 1:2 @ 2:1

@ '2:3 @ 3:2
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129,
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131.

132.
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One of the factors of x3— 3x2+ 3x—21is:
1 2+x+1 «@ xZ2-x+1
@ xP-x-1 @) xZ+x-1
The measure of an angle for which the measure
of the supplement is four times the measure of
the complement is :
o 2r; @ 30
@ 45 '@ 60
What is the ratio of the area of an equilateral
triangle of side 2a units to that of a square,
whose diagonal is 2a units ?
®» VB:1 @ 34

» (3)° V3 :2 @ A3 :8
Torrid zone lies between which one of the
following latitudes ?

«(1) 23%° N and 23%°S
(2 23%°Nand66%°N
(B 23%°Sand66%°S
(4) 66%°Nand66%°S
According to the Census of India, which one of
the following percentages of decadal population
growth rate is applicable for India during
2001-20117
1 16.64% «2 1764%
@) 18.25% @ 19.34%

26

128.

129,

130.

134,

132.
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@

®) 60°

45°

AT 2a THE A Th THATE PAYS & &he H1
% T, fma faFul 22 THEE T, F ARG 9

ERLCEE
\/5:1
J3 :2

V3:4
J3:8

@) @

&) @

w1 wicsy frafataa § Q frT s ¥ < 3
A e?

O 23%°3.3i23%°g

@ 23%°3.3lResucs

@)  23%°T. IRe6u°T

@  66%°S. 3R 66%°T,

WIRT i ‘T%Tmﬁ;?ﬁzzom 2011 ¥ <9
Tt §2 et bt
)  16.64% @ 17.64%

@ 1825% @  19.34%
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133. According to 2011 census, which one of the
following figures shows the population density

of India ?
-(1) 328 persons/sq. km
(2) 375 persons/sq. km
(3 382 persons/sq. km

(4) 430 persons/sq. km

134. Ifparallels are drawn/marked at an interval of
one degree, how many of them would be in north

hemisphere ?
-() 89 + (2 90
@ 9 @ 180

135. -Out of the following percentages, which adeof |

the following is correct for Nitrogen gasin
the atmosphere ? :
@  70% @ 72%

s (@) 8% 4 82%

136. According to Census of India 2011, which one
of the following percentages of urban population
in India is correct ?

=D
® 8020% (@

25.58 % @ 28.10%

31.16 %

137. Community lands are called as:
Nl w ()  Common property resource
(2)  Private property resource

(3  Government property resource

(49)  Non-governmental agency resource

18AT

133. 2011 STUAT & AR fFrefafas ofR § 9 yra
& STHEAT T B HHF a2

() 328 =fw/ant fo ..
@ 375 AfF/e fo..
@) 382 =fF/a ..
) | 430 =fa/aT fo..

134. 3R & feft F ofque W sverw T@med @y
Ti=/fafea o s,  Sud e 3 7 5a
et gem a2
1 89 _ @ 9
@ 91 @ 180

185, FEfafEa fou m e & 4 S-w agvea
SR ST T T % fa wd 32
W 70% @ T72%

@ % @  82%

138. Wﬁmzoll%mmaﬁm
waE & fou Frfafea vhmd § @ 959 o@
77
(1) 25.58% @ 28.10% -
@ 30.20% @ 31.16%

137. VUG Y R B F1 Hed § 2

Q) Wt gefe ghnE
@ Tt afa darE
() @R Hufd guyT

@) TR-GEN S gane
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138. Which one of the following statements is
correct ?
«(1) Inamonarchy, King has absolute power
torule the country.

(2> In a monarchy, people can raise

questions about the decisions the
monarch takes.

(3  Inademocracy, king has absolute power
to rule the ¢ountry.

(4)  Inademocracy, people do not participate
in the process of representatives election.

139. Which one of the following is known as standard
Meridian for India ?
(1) 80°East *(2) 82%°FEast
3) 85°East @ 87%°East

140. The Ninth Five Year Plan was impleménted in
the country in which one of fhe following

years ?
(1) 1995 (2 | 199
1993

@ 1997 @

141. Which one of the following is known as ‘father
of the Indian constitution’ ?

(1) Mohandas Karmchand Gandhi
«(2) Bhim Rao Ambedkar

(3 PanditJawahar Lal Nehru

(4)  Sardar Vallabhbhai Patel

142. Terrace farming is practised in which one of
the following areas ?

» (1) HillSlopes
(2) Gentle Plains
(3 Glacial Mountain Peaks
(4)  Coastal Lands
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139.

140.
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142.

e § A FA WM FATEE ?

) Wﬁ,w#wmﬁﬁﬁfﬂ@
i el §1

@) T 3, T 3 Tt T T e et
gl

3) @ﬁmﬁ,w#mwmﬁ%ﬁm‘i"f
wifed et §1

@) i, s F e e A
TSI A T ol ¢

frefafag § 9 Y IR F1 AFS <R 6 ®9
A E?

1) 80°TH @
@ 857 @

821°Jd
87%°qd

o

29 H 7l Y=Eig Fem Frefafaa § @ e ad
A R ?
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@) 1997 @
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1998

R W % i % w9 d frefatad § Q
TRl ST ofren € 2

() TR FE T

@ T sEEE

@) U TR A e

@ EER T 9E ey

gﬁ?ﬁr{@?ﬁﬁwﬁf@aﬁﬁﬁﬂ%ﬁﬁaﬁw
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@  fera v e o
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143. Transfer of water on earth and its atmosphere

includes which one of the following group of
elements ?

Precipitation, Run-off, Wind and
Temperature

Precipitation, Humidity, Evaporation
and Wind

Evaporation, Condensation, Precipitation
and Run-off

Evaporation, Precipitation, Wind and
Temperature

144. What will be the local time at 80° E wheﬁ the
local time at 20°Eis 10: 00 am ? -

@
NE)

11:30am 2 1:30 pm

2:00 pm @ 2:30pm

145. Horsts and Graben are built by which, one-of
the following processes ?

@
@

Folding » @

Volcanism (€))

Faulting

Glaciation

146. Which one of the following agencies runs‘the
Public Health Care System ?

@
'@
)
@

Private Medical Institutions
Governmental Agencies
Non-Governmental Organisations

Medical Practitioners

147. The Secretary of the Gram Sabha is elected/

appointed by :
«(1)  Members of Gram Sabha
@  Village-ward members
. B) Members of Gram Panchayat
: ° @ Government appointee
18A7

143. YAt G901 59 AGAYSH H Sl I TR T
Frefofad Tt & wme # afmfaa w2

() =9, STerar, Yo 3R e

@ =, ST, it iR e
@) T, G, v 3iR SeE
@) =it g, yee iR aoae

144, & 20° Gel SUM<R T THT AT g6 F 10 : 00
TS ¥, 99 80° Yol IR F THE THT 7
7 2
(1) 11:30Tum. 2 1:30 T
() 2:00d.TH. @ 2:307Tm.
145. ffafad wdl § @ 3 3k Iom fFas [
FHIT S © 2
(W4 T @ 9w
(3) | SeEt R @) fearie
146, HEsioh e Qa1 0 fr=fafad § 9 £H-t
TS = &2
1) et fafea 9em
@ OESe T
@) TR-TErR e
@ TEOE Nfecs
147, T R 5 W g e g A

®?

(1) U™ T TS g
@ M e F HEE gN
@  TW YEEd & e gu
@ R gw gl
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148. According to Census of India 2011, whichone | 148, 2011 ! SO C] i
of the following sex ratios is correct for India ? F 9 ya & faT A T

(1) 910 Females per 1000 Males @ otofemEifd 1000 9¥9
(2) 920 Females per 1000 Males @ 920 ot wfd 1000 T°9
@ 940 forai wid 1000 T2
@ 980 foat fd 1000 T¥H

«(3 940 Females per 1000 Males
(4) 980 Females per 1000 Males

149. Which one of the following Governmental a:a?ra?é’{m@ AT FE
Institutions has authority to introduce new 149, feweit aﬂ'{a:.zq@qﬁ

train between Delhi and Kanyakumari ? ¥ fai frafatga Wl wer § fFEE T
()  Local government arfurerR e 7 ?

'@  Stategovernment (1) T AR

+(3) Central government 2 WIESHR
(49)  Non-governmental organisation @) HFREHR

@) IR-TER "Te
150. The farmers cultivating small plots of Jand usirg

simple tools and more labour in theéplains are | 150, <@ 11:@113‘[ TR/ YR ITHTT g Y 99 &
categorized under which one of the following

typesoffarmj_ng? mﬂﬁiﬁlﬁ@?ﬁﬁaﬁmﬁm
' il % TRl 3} Frad aifa e S S ?

@)  enfen Shfaw sy
@ e Shfae wfa

« (1)  Primitive subsistence agriculture
(2  Intensive subsistence agriculture

(3) Commercial farming

3) arffgs
(4)  Shifting cultivation © I
@) A A
-00o0-
-00o0-
A~ 30’
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